
TABLE S1

	Table S1. Mean scores (and standard deviations) for each question for each version of the survey of Study 1 (0 is neutral, positive scores “likely”, negative scores “unlikely”)

	 
	VERSION
	 
	 
	

	 
	A (salience)
	B (schizophrenia)
	t-test

	p-value
	

	Question 1
	-0,38 (1,02)
	-0,34 (1,11)
	-0,23
	0,82
	

	Question 2
	0,38 (0,96)
	0,28 (1,20)
	0,58
	0,57
	

	Question 3
	0,72 (0,86)
	0,65 (1,00)
	0,51
	0,61
	

	Question 4
	-0,34 (0,93)
	-0,34 (1,08)
	0,00
	1,00
	

	Question 5
	-0,05 (0,99)
	-0,20 (1,16)
	0,85
	0,40
	

	Total score
	0,33 (2,85)
	0,05 (3,88)
	0,52
	0,60
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